Magnolia


ACCOUNTING EXAM (Evening Program)


Fall 2003

Magnolia INC. is a profitable new company that has high prospects for growth.  It is nearing the end of its first year in business and the president (you) must make some decisions regarding accounting policies for financial reporting to stockholders. Jan Holtz’s controller and certified public accountant have gathered the following information:













   (000)


Revenue ($100,000 was uncollected at end of year)
$715


Inventory purchases ($40,000 end of year unpaid)                    
                                   415


Ending Inventory - if LIFO is used
50


Ending Inventory - if FIFO is used
70


Depreciation - if straight-line is used
40


Depreciation – if ACRS accelerated depreciation is used
120


Store-opening costs (total expenditure)                                       
                                     60


Store-opening costs (amortized amount)
12


Other expenses (including interest of $18,000)
90


Paid down long-term debt
20


Purchased fixed assets
100


Common shares outstanding
10


Income tax rate (taxes unpaid end of year)
40%


Investment credit:




 - total credit available







         5



 - amortized amount per year (for 5 years, starting this year)


         1

ACRS accelerated depreciation and flow-through of the investment credit will be used for tax calculation and payment purposes regardless of the method chosen for reporting to stockholders.  For all other items, assume that the same method used for financial accounting is used for tax purposes.


1.
Prepare a columnar income statement.  In column 1, show the results using LIFO, accelerated depreciation (assumed equal to ACRS depreciation), immediate expensing of store-opening costs, and amortization of the investment credit.  Show earnings per share as well as net income.  In successive columns, show the income statement and earnings per share of substituting the alternative methods:  column 2, FIFO inventory; column 3, straight-line depreciation; column 4, amortization of store-opening costs; column 5, flow-through of investment credit.  In column 6, show the total results of choosing all the alternative methods (columns 2 through 5).  Note that in columns 2 through 5, only single changes from column 1 should be shown; that is column 3 does not show the effects of columns 2 and 3 together, nor does column 4 show the effects of columns 2, 3, and 4 together.


2.
Prepare an end-of-period columnar balance sheet consistent with requirements of #1 above.

3. Prepare a columnar statement of cash flows consistent with requirements of #1 above.

4. Express all numerical data in thousands (omit 000), and comment on the results.

5. Which option would you recommend (select one only)?  Why (relative advantages)?

